Very high = 9 or 8; high = 7 or

" Objectives: )
23) Reduce international trade barriers

24)

25)

(tariffs, quotas and subsidies)
against agricultural products and
processed foodstuffs in the context
of MTN.

Increase the processed component in
Canada's food exports.

Eliminate tariffs on agricultural

products (both in raw state and in
processed form) from LDCs and

.encourage tariff reductions in that

sector within the LDC group itself.

Any additional objectives that you feel
ought to be specified:

Comments on Objectives:

Importance

Urgency

Canadian
Impact

Reaction to

6; moderate = 5; low = 4 or 3; very low = 2 or 1.

External Events

Domestic Pressures

Eu ]

g o« -4
&

9] it

0] u
® 8 o
< M =

- 0€T1 -




